
Time: 25 Minutes Paper Science 7 Total Marks: 25

1st Month, 3rd Week, 6th Day Syllabus: Revision Test Syllabus (Week 3rd)

Q.No.1 Encircle the correct answer from the following choices. (1×10=10)


i. Generally stomata are remain opened at: 
(a) Day  (b) Noon  (c) Afternoon  (d) Night 
ii. The rate of transpiration decreases with the increase of:

 


(a) Temperature  (b) Light intensity 
(c) Humidity in air  (d) Wind speed 
iii. The innermost layer of cortex in the root: 
(a) Epidermis  (b) Endodemis  (c) Pericycle  (d) Cambium 
iv.  The pruducts of respiration are carbon dioxide and:

  
(a) Water  (b) Oxygen 
(c) Mitochondria  (d) Chloroplast 

v. During breathing we take: 
(a) Hydrogen  (b) Carbon dioxide 
(c) Nitrogen  (d) Oxygen 

vi. Trachea divides into ______ tubes. 
(a) Two  (b) Three  (c) Four  (d) Five 
vii. The total surface area of alveoli in both lungs is more than the whole area

of : 
(a) Stomach  (b) Heart  (c) Skin  (d) Brain 
viii.The types of respiraton are:  
(a) 2 (b) 3 (c) 4 (d) 5

ix. Which of the following is formed during anaerobic respiration in yeast.

 
 

(a) Methanol  
 (b) Ethanol  

 (c) Propanol  (d) Pentanol  



x. Which of the following converts lactic acid into glucose?

 
(a) Stomach  (b) Liver  (c) Heart  (d) Kidney 
Q.No.2. Write short answers. (2612) 
(i) How do stomata open? 
(ii) Write chemical equation of respiration.  
(iii) What is the function of epiglottis? 
(iv) What are the effects of evaporation of water from leaves?


(v) When does diaphragm contracts and flattens? 
(vi) Define anaerobic respiration.  
Q.No.3. Write long answer. (3) 
(i) Which factors affect the rate of transpiration? Explain.

 


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